N2 sas Aow 2o AL
V2 2 V5 5
@5 93 D 3

Vivs VIO

Vive 5




0 \/5
2
62
| ® @3\/5 ®
_‘/5 DAY
2\/5_6;/5_ |
=342




%ggq%ig%aﬂaﬁﬁq2V6ﬂH%q.ﬂﬂhwﬂﬁ%

Fotolet,
> =

> HE: a=3

Ava _4vaN2 _4N2a e
B ez Ve
w2t 2a = 6 |22 g = 3 ©|t}.




3 3x0O

oA ogte] Lot

£ fsketttar o o, =

el ekt V18  3V2xO

?

Vi @V 02 @ V6 93V
V2




5. a=V3+3V2 b=6V3-2V2 ¥ ™, 5a+ 3b & 7] SpH?

®9v2+21v3 @ 9v2+22v8  (B)ovi+23v3
@ 9vV2+24v3  ® 9V2+2543

ba+3b=5(V3+3V2) +3(6V3-2v2)
=5V3+15V2+18V3-6+2
=9v2+23V3




6.

e &£ 22 ke 7Le9
o it @—\/3\/7:_35
2 - i
® 2Vix VT =14 . \/gx\/;:\/;
® VIx2v6 =43

B Bl =




]

=

3 Sty va olglet. olu A4 a o 3

o

a=12

ul
S

RO




o, V10 & x, y & #A Herdolet

V10 = V2 x V5 = xy




2/5cm
¢Q
3 cm




10.

filo
)
i
ol

Vi=x, Vio=y 2t & o}, 5v5+3vV10-10V5+ 14 V10
SHA ax + by 2 LR 5= Qleh o] W, 2a - b 9] e

@-2 o5 @3 @ 5 ® 27

5v5+3v10-10V5 + 14V10
= (5-10) V5 + (3+ 14) V10
=-5V5+ 1710

= -bx+ 17y
“2a-b=2x(=5)-17=-27




11, 3< VF<dE BEsHE A% x o] A4

s @ ® 8 @ 9 ® 10

3< Vx<4 g AS AlFSH9I<x <16
uebA], HF5AE WSt AT 1 £

10, 11, 12, 13, 14, 15, 16 Z 7 7ot}




O V2 @ -05
@ 2+ V2 ® 1+ V2

B

o, = AA=

G,

V2

2

Tlo

4

i

@2+ V2=34xx%x---
@1+ V2=24%xX---
N OPIORSORIORND)

D V2=14%xx"--
@ -0.5
@®D1-V2=1-14%xx-=-04xXX%X--




13. 7< V10x < 9% A4 x o] W4E Fotofet.

7< V10x <9, 49 < 10x < 81
wepA A4 x =5, 6, 7, 8




14. G2 Z A S a—4- Vi, b=2 c—4- B9 d4 BAR L&

ARy
D a<b<c @ a<c<b ® b<a<c
@ b<c<a @c<a<b

B \

l<a<?2o0]1

-Vo<-V8<-V4
4-Vo<4-V8<4—- V4
©1<4-—8<2

Ll<e<?2
a—c:(4—\/7)—(4—\/§):\/§—\/7>0
a>c

c<a<b




27 3V3
@ E—F @ +0.005 = —
3 2
12 = — — =
@0 3 ® 5
12 6
O Vu=T

8

@ J2L - [3¥x3 _3V3
121 112 11
50 52 %2
V0.005 = 4/ =/
@ 10000 1002
2

_5V2_ 2

100 ¢ 20
12 Viz 1
0= 10 ~ 102V




16.

|
|
Q

5

S5

2
&
fijo
rd
'
FIF
do
L)
N

4
5

® 1 ©OF ® 3 @ 4

Lo

B

V2l V30 V15 _ 26 V30 36
3v3 V12 3v6 3V3 2V3 VIS
V62 x 30
~ VEx1b
=242




17.

2+ V3

O HH HES ;o] A5 BB ) gty g,

2- 43

2a+3b & @t& FoFH? (HF0<b<1)

@ V3-

3 @ 2vV3-1 ® 2v3-3

@ 3vV3-1 @3\/3—3

B

1
2+ V3

b= 13
2a + 3b

1

=2-+W30|B2 4 =0—— =2+ V30|ER
2-13

-1

=3(V3-1)=3v3-3




18, mzs 2V3

T = el ooy
Y 2| skshd?
© 4V3+6 @-6+4v3 ® -4V3-6
® 27 ® -5V7+8
2V3(2 - V3) L

2+ V3)(2- V3)




)
_|_
—_

1 ol B g fajsiet 229
D -2+2 @ 3-2v2 ® -3+242
@3+2«/§ ® 22
2
(V2+1) =3+2V2

(V2-1)(V2+1)




, } 2171 VB, VT5 < 1, | |
A gwA o] Hol2 Talw?
D V2 )25 ® 5 7
@ 36 ® 215 e

B

EO1E het oFH V6 x V15 xh=12v5
1245
~ V6x VI5

P [5 12
6x15 18

12 4
3 V2

S




